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1 Not in Strata 1 (less than 7.5 percent forest)
9 Not in Strata 1 (strata 2)




Figure 7a. Example 1 of hexagon stratum assignment. Checked plot are assigned to stratum 1. The Sum60 ozone level is less than 10 (shaded green) and percent forest is greater than 7.5 percent. Hexagon annotated with a "1" is not in Stratum 1. It has less than 7.5 percent forest. Hexagon annotated with a "2" is not in Stratum 1. The Hex center has a Sum60 greater than 10 (shaded yellow). 
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Figure 7b  Example 2 of hexagon stratum assignment. Circled plots are are assigned to stratum 3. The Sum60 ozone level is greater than 25.5 (shaded red) or are in projected violation areas (outlined in red). Hexagon annotated with a "*" has less than 7.5 percent forest but is in violation area.

[image: image3.jpg]



Figure 8 Proposed Grid
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